复习题（二）——计算专项复习题
                    班级          姓名        
一、口算
（7×8）÷（7×8）=      7×8÷7×8=       400-122-278=       38＋7－38＋7=     
9×3÷9×3=            12×5×8=          15×3×4=           14×2×5=   
30×6×4=              13×3×2=        380×0×25=            8÷2×8÷2=  
700×4 =         70×4 =          500÷5 =          50÷5 =         5000÷5=  
40÷4 =          96÷3 =          88÷2 =            5600÷7 =        480÷6 =  
51×3=	           90÷3=		      84÷4=              600×6=	           8×90=       
4×72=		       38×2=          450÷5=             490÷7=	          233×2
208×4=           320×2=        400÷5=            270×3=          396÷3=      
 0÷8=            0÷278=        0÷1000=           0×1000=         0×299=
 88÷4=           22÷2=          7200÷9=          720÷9=         270÷9=     
24×5=            16×4=          17×5=             16×5=          25×3=
4×25=            14×6=          15×7=            15×6=           23×5=
109×4=           308×5=         205×6=            8×125=         124÷4=
540÷5=           69÷3=          254+146=          1000－455=       800－711= 
[bookmark: _GoBack]10+0.5=           2.7+3.4=         9-2.9=          5+0.06=          2.6-1.7= 
12－1.3=          17－8.6          20－14.9=        100－13.5=       50－23.7=
7.6+14=           23+8.7=          13+6.7=          4.64+3.6=       2.9+0.71=
124+199=         298+325=         399+217=          432+198=        545+499=
566－198=         478－299=        533－399=        700－402=       1000－705=
960+80=          280+600=         397+301=          346+244=         185+15=
250+70=          555－155=         720－90=          1000－860=        38+52= 

二、估算。
235+189≈        1000÷9≈        765×5≈         434－256≈       234÷6≈
234+735≈        412×7≈         4.5+3.8≈      12.5+39.3≈       23.3－12.8≈
354÷9≈         265÷3≈         765÷7≈       423×6≈          395×8≈
623－135≈      245+456≈        12.5+4.7+3.92≈        7.2－1.34－2.1≈

三、在□里填上合适的数。
       +345=600        58+     =130        3.6+     =10           +4.9=9.1
   
      －125=125       304－    =150           －4.6－3.7=2.5    

      ×8=1000           ÷8=1000           ÷10=10      12×    =48

 450÷     =9       230+     －145=215          ×9÷    =36

四、竖式计算
870+651－105=                1000－154－246=                750－341+209=   





109+（387－228）             735－249+133=                   536+193+423=       




486-414+62=                   112+467－194=                   235+178+365= 






148×5＝                 9×122=               532×3=          148×5＝






 4300×8=           620×8 =               70×56=              360×5=
  




205×4＝            708 ×5=             7×609=             8×2003=






11.2-8.3=            11.4+2.8=           15+3.8=             20-1.9－3.7=          





 6.8+3.46            13-0.25             2.65+3.35=          4.78－0.7=






345÷5=             812÷4=               456÷9=              721÷6=







五、脱式计算：
  70－25÷5			           20+8×9                  （54＋24）÷6

 



 （70－25）÷5	             （ 20+8）×9                54＋24÷6



49÷（27－20）               24÷3×2                       15+15÷5



800-24×5　                  306×4×3　                    58+42×2　  
 




125×8÷5                  504×(503－497)                 1004-28÷4  






843－（90+230）              512－（62+98）                918－（218+102）






324+298+176                  902－245－355                   360÷4×8






425×3－255                （579－450）×4                  125×9×8






871－381+129                 216－154+207                25×8×4×125 
